_________________________’s Entry Slip

	3 + 3 = 
	5 + 5 = 
	8 + 8 = 

	16 - _____ = 8
	14 – 7 = _______
	20 - ____ = 10



Write the matching addition or subtraction double.

	Addition Double
	Subtraction Double

	12 + 12 =  
	

	
	28 – 14 = 

	11 + 11 = 
	

	
	30 – 15 = 
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In a game against the Oilers, the Oilers had 3 shots on net in the first period, 5 in the second and 4 in the third period.  The Flames had double the shots!  How many shots on net did the Flames take?  Show your work!
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Owen and Margo were working together to design a boat that would hold a load.  They built one boat and tested it, then they made a second boat and tested it.  Their second boat held 28 marbles!  This was double the amount of the first boat.  How many did the first boat hold?  Show your work!
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